e =

8.31 A Rankme half-body is formed as
<hown in Fig. P8.31. For the conditions
“hown, compute (a) the source strength 7 1n
____wr"'s: (b) the distance a; (c) the distance #;

and (d) the total velocity at point A. g
- \
- Fig. P8.31
_ /}L = Wi{z\-fw\ Shiasae N Avader
yfﬁe\ = Uvrac @ X WM K= Vi S
e ——
Ey k})/-: v Asnn (S
P, 8) = CrnsdedT & = Ven ' Wix
= 4
g GO " . Y 2N
ok

O lll M= wilamo o\ A1 s

. U\;}\\}(::‘- 2 Wen (2 S, Vaum IR, S w5 = e
FB:‘IT’JA‘
b, oy m=f%%;='cr+%m e ;i—(-\%!x,,—;-
| ’l’\ﬁ’\'ﬂ*’o*“ts"{? =) _wA=2Ta = X/&EAD)
A vy 3L AL WA = \’_‘r“"fj—_-_‘i’.’:?
("‘)_ Yy = "'\(T\‘-@-\;/UMG--'- Y ba~ & ATk
LA e e Y R AT =6) /A
sy B S tn -
T B - e i o)
S pea S, i % /2% &/ (%
®E ok (43— a e
X~-%~’—?'aq;m-:-‘¥‘\"’x’ = *'/tne = £,85 wA
e oy T U S We v ee =k S
- (J\\ ==Y = 2 = = () s
~ L Voalataer it = L lw s teltr (B s\ =0 % WS
O+ 5 c-n}s ?Z‘FU"‘ b L ME 4020 UEC Ly ‘\‘/,(:.. = A'JZQ\

i

TR, — !—-\._.-



